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{

"phone":"13566668888",

Ilapp_idll: “Eﬁ“*/ii‘i//l:l“

¥

He) 17 7 f41

{

'""code": 200,

"msg": "success",

"data": {

"user_id": 101040,

"token": "eafde38ec19fdd9ed0d7b06b0011e7efd"

"msgId": "1737182ff68b4c8e9633839493a91ch2",

o

"'sessionid": "",
Il.tagll: IIII’
Il.typell : i

by
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Bk 7 POST
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messages e =

messages:role string 2 sk user

messages:content | String & TSR LA 2 B
Pl

sessionid string = £ id: 2R A B
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sessionid

third_sessionid string e = Haitid
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model_id int = BRI TIE 9 B id

chat_version string & ] :v2.0.1

IR E

{

"model_id": 47,

"messages'": [

{

"role": "user",

Ilcontentll: IIHt%%,{E/A\j‘]\“

¥

1,

""'sessionid": "common_2_ test 001",

"third_sessionid": "thirdsessionid",

""chat_version'": "v2.0.1"

}




LR E

{"code": 200, "msg": "success", "data": {"answer": [{"role": "assistant", "content": "f&Z1",
"id": 0, "isSysMsg": 2, "msgType": 1, "switchMode": "", "is_continue": 0}], "elapse": 0,
"stage": 1}, "msgGroupld": "1729756226", "tag": "body", "type": "frame", "sessionid":
"common_2_test_001"}|||

{"code": 200, "msg": "success", "data": {"answer": [{"role": "assistant", "content": "fil:- 7",
"id": 0, "isSysMsg": 2, "msgType": 1, "switchMode": "", "is_continue": 0}], "elapse": 0,
"stage": 1}, "msgGroupld": "1729756226", "tag": "body", "type": "frame", "sessionid":
"common_2_test_001"}|||

{"code": 200, "msg": "success", "data": {"answer": [{"role": "assistant", "content": "JX",
"id": 0, "isSysMsg": 2, "msgType": 1, "switchMode": "", "is_continue": 0}], "elapse": 0,
"stage": 1}, "msgGroupld": "1729756226", "tag": "body", "type": "frame", "sessionid":
"common_2_test_001"}|||

{"code": 200, "msg": "success", "data": {"answer": [{"role": "assistant", "content": "JF%z%",
"id": 0, "isSysMsg": 2, "msgType": 1, "switchMode": "", "is_continue": 0}], "elapse": 0,
"stage": 1}, "msgGroupld": "1729756226", "tag": "body", "type": "frame", "sessionid":
"common_2_test_001"}|||

{"code": 200, "msg": "success", "data": {"answer": [{"role": "assistant", "content": " ",
"id": 0, "isSysMsg": 2, "msgType": 1, "switchMode": "", "is_continue": 0}], "elapse": 0,
"stage": 1}, "msgGroupld": "1729756226", "tag": "body", "type": "frame", "sessionid":
"common_2_test_001"}|||

{"code": 200, "msg": "success", "data": {"answer": [{"role": "assistant", "content": "£Z A",
"id": 0, "isSysMsg": 2, "msgType": 1, "switchMode": "", "is_continue": 0}], "elapse": 0,
"stage": 1}, "msgGroupld": "1729756226", "tag": "body", "type": "frame", "sessionid":
"common_2_test_001"}|||

{"code": 200, "msg": "success", "data": {"answer": [{"role": "assistant", "content": "l|g",
"id": 0, "isSysMsg": 2, "msgType": 1, "switchMode": "", "is_continue": 0}], "elapse": 0,
"stage": 1}, "msgGroupld": "1729756226", "tag": "body", "type": "frame", "sessionid":
"common_2_test_001"}|||

{"code": 200, "msg": "success", "data": {"answer": [{"role": "assistant", "content": "? ",
"id": 0, "isSysMsg": 2, "msgType": 1, "switchMode": "", "is_continue": 0}], "elapse": 0,
"stage": 1}, "msgGroupld": "1729756226", "tag": "body", "type": "frame", "sessionid":
"common_2_test_001"}|||

{"code": 200, "msg": "success", "data": {"answer": [{"role": "assistant", "content": "", "id":
0, "isSysMsg": 2, "msgType": 1, "switchMode": "", "is_continue": 0}], "elapse": 0, "stage":
1}, "msgGroupld": "1729756226", "tag": ‘"body", "type": "frame", "sessionid":
"common_2_test_001"}|||

{"code": 200, "msg": "success", "data": {"answer": [{"role": "assistant", "content": "", "id":
0, "isSysMsg": 2, "'msgType": 1, "switchMode": "", "is_continue": 0}], "elapse": 0, "stage":
1}, ‘"msgGroupld": "1729756226", "tag": ‘"body", ‘"type": "full", "sessionid":
"common_2_test_001"}|||
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5.4 A A

def get_data():
start_time = time.time()
url = "http://medgptv2-ga.medlinker.com/api/med/chat"
token = "7d39f0a564f8b06620678599dac55d00"
reg_data = {"model_id": 47, "messages": [{"role": "user", "content": "l F&E/E A"},
"sessionid": "common_2_test 001", "third_sessionid": "thirdsessionid",
"chat_version": "v2.0.1"}

headers = {"content-type": "application/json", "token": token}
res = requests.post(url, headers = headers, json = req_data, stream = True)
content_db = ""
first_cost=0
for item in res.iter_lines():
if not item:
continue
if first_cost == 0:
first_cost = f"{round(time.time() - start_time, 3)}s"
item = item.decode("utf-8")
if isinstance(item, str) and item.endswith("|||"):
item_data = item.split("|||")[0]
content_json = json.loads(item_data)
if isinstance(content_json, dict):
c_data = content_json.get("data", {})
c_answer = c_data.get("answer", [])
if len(c_answer) > 0:
content_child = c_answer[0].get("content", "")
content_db += content_child
yield item

cost = f"{round(time.time() - start_time, 3)}s"
print(" & Y I R FEET:", first_cost)
print(" S FEES:", cost)

print("content_db:", content_db)

# todo #7¢ db
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{

'""code": 400,
Ilmsgll: Il%i%[j\]//l%“—:ll,
"data": null,

"msgGroupId": "ac50460531994a2c864adf9919342fd4",
Il.tagll: Ilbodyll’

Il.typell: Ilfu'L'LII’

"sessionid": ""
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